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Answer the following questions:
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Choose one of the questions (a) or

(b), then answer it.

a- Give reason for:
In honey bee insect, the production

gametes are differed in males than in
females.

b- Give reason for:
The activation of starfish's eggs and

frog's eggs is not considered as a
natural parthenogenesis.
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Choose one of the questions (a) or
(b) then, write its scientific term.

a- The process by which a complete
plant is produced from plant cells
without pollination or fertilization.

b- A type of sexual reproduction
takes place by somatic cells.
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1. Choose one of the questions (a)

or (b) then, mention what would

happen when.

a- The absence of major
histocompatibility complex (MHC)
from the macrophages?

b- Absence of basophil and mast cells
from the site of inflammation?
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Questions from (4-6):
If the sequence of the nitrogen bases in a part of the
DNA strand is..

1(6 — 4) e Al
) g8l st 5 (S 1)
852 B A gl
5 DNA Ly

3--- ACG AGT CAG AGT CAG ATC ----5'

um 4.

Write the sequence of nucleotides in
the mRNA that transcribed from the
previous strand.
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How many t-RNA molecules that
used in the translation process of the
MRNA that transcribed from this part
of the gene?
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=@ 6. How many amino acids that produced as the

result of the translation of the transcribed
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Mention the site and the function of
the neural canal

A g (e S .7

duanl) 5LAY




ma 8.
N

Show by a complete labelled diagram
only the structure of the human sperm.
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Compare between the wrist and the
ankle (in terms of the number - the
structure).
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- (1) &isadl 38T 531710
Choose one of the questions (a) or L Ade ol ¢ ()

(b), then answer it.

DNAJ sy A Jle -
a- Give reason for: e i iasl s
In DNA molecule, one of the two @y (2 Ladaal (68

strands had to run in an opposite AN Sl
position to the other strand . ..
O Adlunad) 1 Mo

b- Give reason for: S Ay ghudia (e Had)
The two DNA strands have the same .DNAJ &5 aaial
distance along the DNA molecule.

Write the scientific term that 22 gl abil) plbuaal) S) -}1

. NS
EXPresses. pavon 5 % . . P
et Ay gldaadll LAY fpa B jiia dic

Small nodes of lymphatic cells Jia) £ 5l plasal) daldall sliad)
spread to the mucous-membrane Cra
lining the lower part of the small ALBA plaal)
intestine.

Mention from what you studied, ij?‘ e G Laa S0 12
The reason of the appearance of 02 (2 Al Claw o
some masculine traits in some
females.




==' 13. Choose the proper answer:

If you know that the menstruation
cycle in the adult human female began
on the 20" of September, so Potentially
that the secondary oocyte will be
released from the ovary on

(a) 25" September
(®) 30" September
(©) 4™ October
(> 10" October

rdasaall laY) ) 13
S e Caadall 500 of cuale 1Y
e 00 20 asy oy ALY olusy!

14 . . :
T~ Mention the importance of the glenoid

C o ciusaill 4zl 830 14

Write the scientific term:

A particular sequence of nucleotides
on one of the two DNA strands where
RNA polymerase enzyme binds with.

anf e g slall G gl
p233 42 basi n DNAJ) (s i
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Choose one of the structure (a) or (b),
then illustrate it with a complete
labelled drawing only:

a- The structure of the m-RNA molecule.

b- The structure of the bacteriophage.

I () crams Y aaf 34 .16
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=m 17. Compare between identical twins

and fraternal twines
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What is meant by each of the
following:

a- Gamete banks.

b- The triple fusion

il bas 0S5 3 puailall L .18
gl dgly -
DN zlaaly) @

Choose one of the gquestions (a) or

(<) o (1) a8 anlg JIsm 1330 .19

(b), then answer it.

a- Give reason for:

Thymosin hormone play an important
role in the immune system.

b-Give reason for:

The spleen contains phagocytic cells

idle calg o
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SEEDQ.

Choose one of the terms (a) or (b)

then, write its meaning:

a- The crucial experiment.

b- The nucleosome.
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Choose one of the questions (a) or
(b) then, write its scientific term.

a- Type of muscle that have actin and
myosin and controlled by the man's
well.

b - The smallest unit contraction of
the skeletal muscles
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Choose the proper answer:

A piece of DNA containing 8000
nucleotides, including 2000
nucleotides adenine, so the
number of cytosine nucleotides

(A) 2000 nucleotides.
2400 nucleotides.
@ 2800 nucleotides.
(D 3000 nucleotides.

aaal) LY JA) 22
& 553 DNA 55 (o dadad
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Answer the Question

(23 - 24)

By Using the

drawing:

(24 — 23) ALY
Al ool ) aladialy

Type the number and name of the
part that will become after the
fertilization:

a - The pericarp

b - The embryo

s sl amlg b GiiS) 23
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Type the number and name of the
part that will become after the
fertilization:

a. Endosperm

b. The opening from which water
enters the seed.
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==' 25. What happens in the following cases? Ay Al 8 Gaay 1ila 25

a- The absence of lignin in the xylem o0 oaialll agag ate

vessels. o
) _ Lidd) Ase g
b- When a piece of a chroomosome_ls e dadid Jlad) e — s
separated and rotates 360° around itself

and rejoin to the same chromosome . L 99 AT a g g 9 <)
da,0 360 lgwdi Jsa
A8 e Lgalail) 3ale) o

=='26. Compare between B-plasma cells and Al LAY e U8 .26
mobile macrophages cells (in terms of
their immune roles)

81 9a) Apaadll LD g B dza 0l

Lagia J9 oladl ol Con (e
Mobile macrophages cells B-plasma cells
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Write what you know about the Bk (o 48 i La i8] 27
spontaneous mutation and its Lian g Ailatt)
Importance.

Choose one of the guestions (a) or (b), S (1) oallpud) aa) S8 28

then answer it. rale s ()
ADH ¢sap Jary e -
o sl Ll Ll Blial) e
Anti-diuretic hormone acts to maintain PN
the water content in the body. Sl ) sar b tdle - o
b-Give reason oy }Hﬁb 4
Adrenaline hormone is secreted during
the emergency situation.

a- Give reason




Question (29 - 32)

Two researchers studied the immune status of two
persons infected by malaria disease.

Study the following graph then answer the following
guestions:

The 1% person
dg¥ pasill

The 2™ person
I padlll)

of antibodies

The concentration o

(32 — 29) 4Ly

Lo i) Ay Al oy (il old
B4 Al L a3 Guadlld
a:.'iu.'rd.d\ KT i) L LSkall
saul) ALy o caal

T

2 4 6 8 10 12 14 16 18 20 32 24 26 38 30

ALY Gah

Time /days

=m29. Explain from what you have studied
- how malaria infection can be
identified.

OSay S Cu o baa i .29

A dilay) o il
LSkl

=m"30. Explain which of these two persons
- have symptoms of malaria first. And
why?

Cpmaddd) cpda e ) ¢ .30
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How this parasite reproduces inside
the human body?

Jala ikl 138 S i 31

£ Cady) ana

What is the role of macrophages in
resisting this disease?

o Al LAY 50l 32

¢ pall 13 a glia

Mention the importance of
androgens.

Ciliaa gy dsaal 83133




Choose one of the questions (a) or
(b), then answer it:

Write down what you know about
a- The uses of DNA hybridization.

b- The practical application of
recombinant DNA in agriculture
field.
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=m 35. Compare between chemokines and U gaskl) i 8 .35
interleukins in terms of their immune . . .
role s Cua (e s gl 51
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interleukins  <lis gl AN chemokines  «UiS saxsl)

L8"36. What is meant by the Pre-existing dons i) Ao lially 2 galall e .36
. structural defenses of the plant? ol b Ll 33 g gal

Choose one of the questions (a) or (b) (<) 5 () chsd) Aaj 530 37

then, write its scientific term. )
e oM alad) llaaal) S) g

a- A type of fruit in which any part of e
the plant except its ovary enlarges to —
store food. ) A padly JLail) (e g 55 -

b- The Process by which fruits are S8 Lpana £ 55
formed without seeds . 9% Qs L S Addes -
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Choose the proper answer:

The antipodal cells are formed inside
the ovary of the flowering plants by....

(A) Mitotic division only
Meiotic division only
@ Mitosis followed by meiosis
(D) Meiosis followed by mitosis

tdanall Llay) i) .38
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am 39.

Both ribosome and proteins help to
form each other. Explain

DS 2ol 3 lad) sda b 39
(s i gl g gus g ) (1




=m 41. Choose the proper answer:
[ |

The area that disappears during the muscle
contraction is:

@The area containing actin only

The area containing the myosin only

(C) The area containing actin and myosin

@ Z lines
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Mention the names of the hormones
that responsible for increase the
glucose level in blood.

4 gicall il ga ) slawd 831 .42
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Choose one of the questions (a) or (b),
then answer it.

a- Mention the site and the function of
the seminal vesicles.
b- Mention the site and the function of

the Fallopian tubes.
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=B 44. Illlustrate with fully labelled diagram dasd bl JalS aui s s .44
= only the structure of the antibody. Alaall aadl G 53

== 45. The ability of regeneration differs aadl) e 5 a8l (alids 45
according to the degree of the animal A Glgaadl B da o sl
development. Explain Ald a5 ALY adgy a giy
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